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.استپاسخ2گزينه-3

محلول

:داريمC25°دمايدرپسميماندثابتحلالجرممحلول،كردنسردبا

آبدرمحلولنمك⇒

بلورجرمبلور



درشود،افزودهآن...............محلولبهاستاتسديمبلورازاندكيمقداراگر-28
...............صورت،آن

.باقيماندنامحلولشده،افزودهمقدار–شدهفراسير)1
مقدارهمراهمحلول،درموجودشدهحلاستاتسديمازمقداري–شدهسير)2

.ميشودتهنشينشده،افزوده
رسوببلوريبهصورتاستاتسديمبيشتريمقدارسرعتبه–شدهفراسير)3

.ميكند
رسوببلوريبهصورتاستاتسديمبيشتريمقدارسرعتبه–شدهسير)4

.ميكند



.استپاسخ3گزينه-28

بهچنانچهامانميدهدرختغييريهيچشوداضافهشدهسيرمحلولبهاگر

بلوربهشدن،سيرحدازاضافيمقدارهمهيشودافزودهفراسيرشدهمحلول

.ميگردداضافه
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